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Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

! GidT dwowm ¥ &R 3dC ¥ ' %7 fEfor gt 81
Are X1 RNA Ufd

X 2 DNA "fd

v © mRNA Hfd

X 4 DNA 3R RNA Ufd

Q2 g dagelia 2g @GS AR RS FAE BHA: 3923 cm AR 16 cm Bl 7 BT HF WA 2 A
§Y, 3% P & d-U§ &l &ABA Jd DIl

e K1 372 em?
X 2 328 cm?
v 5 352 cm?
X 4 339 ecm?

Page (1)



* gy @ Py wu § wrend B S 82
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X3 1m/s?
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Ans X1- ﬂ:Fﬁ
X 2. 9
Vs ad
X 4 0D

*® 14, 42 3R 77 B AYTH THIGIISD ©:

Ans  of 1. 462
X 2 308
X 3 154
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9 15— (—18-35+5)= 2
Ans X1 _ D
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V'3 10
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3B, 9F; 24), ?
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<2 81L
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e K20 fiFe
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Ans 13,083 °C
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% 7 ST 1984 I THAR U 7 ST 1983 I HGT o U2
A o1 TIEIER
X 2 §YdR

X3 IfqaR
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e X020 W
X2 32 4¢
V'3 g0 HT
X4 40 °c
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Ans Xl )
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X4 4

Q4
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ans X 1. 32
v'2 20
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% fer oS @d uRve (SASC) &7 T @Y ¥ ger Il
ans X 11975
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X 4 1987
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Ans x 1 E a\zﬂ
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X4 Ha FHEd

U fmfafad argst @ § o4 O Seg aHF R 59 sERm # Bkl 22
s of 1 ORT

X 2 TR

X3

X o sifeE

Q§4 gid 10sin*a + 15cos*a =6 E‘?[, Al 27cosec®a + 8sec® o BT HF 31d =y
as X 1. 50

X2 125

V'3 250

X4 75

QS YRA WPR & oAEER UM GRI o1 9iwon goAr a¥ g @ T A

Ans  of 1. 2016
X 2 2014
X 3 2013
X 4 2015
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Q.5 T A FEdT R RS -3 FH A §Y HA: 8 AR 12 U¢ H uF @ § @t mud &
2 P ubd ¢ 4 UH-UP U @ B Al 7 i T A S awd ¢ O e 9 am. § &H
HRH 1 § df S Fd wal g anwh?

Ans X 1. 7.30 p.m.
X2 430 p.m.
X3 530 p.m.
2 6.30 p.m.

Q.5 e U6 BRE EF TE S B A I W@ e SR 96 TEAN O F F9 F z 20,000 Fffa
3 axdl 21 i & T At & oMuR W @ ST B Iub GRI B @9 ad 2 adl & o e
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50
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X 1.z 3,000
X2 % 12,000
v 3 % 6,000
X 4 7 4,000

Q.5 us fBys ABC #, D, E 3R F @ OF Yol BC, CA iR AB & T fig 21 BE 3X DF Td g
4 i X W @red §1 DE 3R CF U% g & Y W &edl 81 XY =2

Ans X 13 BC
}(2.3 BC
X3 - BC
v > BC

Q5 W o F¢ o § I T 991 81 8 U 9%, Te 2 &1 A g1 T 95T a1 3T IR 8
5 g wE, 9% ogE # ey ¥ T &S g

Ans
1. 21
2
2.3
3
3. 22
4

4. 2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Q.5
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6 FiuiEd sy @ik ey W R FINT R 9T i S S8 3 Fed afbe 9 3 sy 351
SO B B

FU:

Tt g @isl ¥ ¥ 39T F A gay e B
foreap:

. 3 Higlgd sl & Hidbe Y YA 2

Il. BI5 24 AR 56 AHHg T 3

1 Faa ey | SFERT BT B
X 2 Had By || TR0 B Bl
X3 gFl Fspy SR $d T
X4 qd Ay | 3R T &Il STER H g

Qs KIT" areg &1 e ZUUT ofd wT BY
|| RIT T ||
I L i

A B C D

Ans X1 O
<2 A
X3D
v B

% Sfmmara 97 TS sais fHg af gen?
ans X 11981

X 21920

v 2 1919

X 4 1891
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Ans

°é5 754 Tice w9 oEigy ¥ Fafafad # O 5y IR . Sier weRr 8 wenig faar mn u1?

v e fath
X 2 TSt gF
X 2 TG BUsH
X 4 e

Q.6
0

Ans

Udh 1 kg B a5 30 m & Fas I YH W RS 96 81 Ho-ad R a1 T S =il
@~ e g = 10 mis B)

<130
X210 J
<3033 J
v 4 300 J

Q.6
1

Ans

C,E SR F @ Hf gl F &I [daig z 9 g3 g1 C &1 Z ¥ 31 4§y g2
v O

X2Tg

X 3 qHlg

X4 9
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Q6 fafifed § ¥ S & 3= AHHM W A § ffefigd (S TE S 82
Ans x.l. W

X 2 gA®

X 3 3efAmTd

v o TagYIg

Q.6 femizht <1 uF -, SHF oAfhd 9eT U 20% @ W WS Wy o oifhd ged W A fan 9 e
3 ey w g vfema @ 2

A X 1. 25% g1
v'2 25% WY
X3 15% TMH
X 4 15% eI

046 Calculate the momentum of a gun of mass 400 kg when it recoils with a velocity of 0.25ms™.

AmS 1100 kgms?
2. 100 kgms?

3. 100 kms™?
4. 100 kgms ™2

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
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056 a1 cxidl Y seld 1 Al S & o Fufaled @ 9 S Al srpladl &1 ware fear w8

A B C D

(I [
Ans «1,&3?1?5

X2p 3R A

X3B 3R C

X4Cc3RD

Y PR S s 0 H fFad A g4 22
Ans X 1. 6.022 % 1024

v 2 6.022% 1023

X3 6.022% 10%°

X 4 6.022 % 1022

6 - .
@ Mechanical energy is:

Ans (1. The energy released during mechanical work

v 2

The sum of kinetic energy and the potential energy of an object
/< 3. Equal to the rate of doing work
/< 4. The energy absorbed during movement of a body
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Q6 19 Sl 2018 P Y WRA & TET TG HGE & w9 H Fgad fFar me
" 30Ty ad

X 2 G AR

X3 2 T

X4 gl RISt

% fou U ooy REl # ¥ LIGHT & o <dur ufefds &1 @59 =%
fameq o
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MNeHL 1H9N

<
> 000
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Ans X112 J
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V'3 125 J
X425 ]

Y R el gEar 1 e U 9 $ifoe

T,A S, B R C, ?
Ans X1 T

X2U

v Q

X485

Qé7 fApfofad uel 3k Syl W AR &% 2R 00 &% & o9 &1 IR 3 F o F9 § oy wf g
BE 790 P $O HR T 82 UAF T9 B UX AR ¢
Y
1. 7S T FI IH-0els YR 2 kg gl
2. IR §FE B FA YR & T8 & A UR U 12kg T g

XK. o s 1 g gl

v g G HYF 1 41 2 T gl

X3 g ®yF 1 3R A 8 2 7o B
X+ $Haq $YF 2 1@ Bl

°é7 fufif@d § ¥ 319 91 9 #sdild $I ead grut # te [ @ T8 o 9

Ans
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V' BRI
X 2 Fehy

K2 o
X+ TgIeT

047 fu T uy & wey o PMufifed 9 9 S 91 9F Auad 82
T WHR GRI Fisodl & T IRl § uifefia 97 & 3uan uigsfig & ¢ aifgu?
GEZ
I, B, 39 iy B s g ekl 81 @ ufet @iy & g o a1 o gad 2
. T8I, 9% GaueE® gl

X1 $Had d& |l §oEd ©

X2 b | 3R 1| gFf & Aoy ©
XA dqddb | R TS ah || 7oed ©
v 4 $HIq T | A9 §

Ans

L7 R wfau & SfuR, Wau SR des $6e & By wed A uRkd g 82
e XL gl Sudt @ik fEd Ted U Oy

X 2 3" HaA

X 3 e ged

v Ml FU SR FEd 9eT e 9
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Q.7 =iz 200 gy el vad & FEfo 1024 B9 § &2 G € df 39 wad &1 Ao 256 B9 0 e &
6 fm foq T P T Al

Ans o 1.800
X 2. 650
< 31400
< 41200

Y fpfafad 3 @ FF 1 YR URANU & U oead e 82
e o affaioE

X 2 FaRIbA

X o g @ Ul

X 4 PlEq By ATRISS

0{37 T @ i IWw onpfagl & Yo B oemga B AR 99 B b omTel Bl B ot gfie

==l

Ans ?(T A
v2C
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X3D
X4+ B

Q§7 3T M YT W GO PN R 70 Y & Fufaied § 9 SF O 4Rum sy | sfdfied S
FU:
agey R I Ipfedes e 2
YRUMU:
I. S M SR aaHifES far g
Il 899 ¥ gOR IR # uft gy wfad €0 § off vioRem o &I Ao &ed g

e XK ad yrom 11 siafifed @
X2 9 4Rom | 3R A & 11 safiRd ®
X 3 Haq YR | fdFifed §
V4| 3R I AT S YRUMY Sfafed §

Q.8 fou MU FuAT & WL AT Yo & § WS 319 9t § i udid 29 8 oiR S emur e Tl
0 il 7 Ru U Frespel 7 @ 1 4 Fy ahdd &9 I U H SFRU F 3

FY:
%o g @ €
¥ TR AT
ot
199 g2
2. e @ §

X1 Haq 2 WU H ©
V2 T & 1 3R 2 3R TS B §
X3 g1 91 2 TR0 Bl §

Ans

X 4 Had 1 A0 B ©
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Q8 1w aw) F UH 2Aaqq U0 & G IG5 BiHd [§g R Thdl $% & 99 G 1P &g W W@ ™
T 21 RBifffr €9 arehl ofd @

e XL eyl iR i
v 2 grafdd iR It
A2 ot 3R It
X4 grafde R W

a8 e _ Ve+1 3
2 x-v"g+1 Sﬁqy— 6—1 %’Eﬁ

[BKZ‘I'EIY +3}’z] - Sﬂﬂ aﬁ?

(3x®—5xy +3y2)

Ans 563
of 1.
313
: hh3
XK 2 o
313
: 663
X a2
313
: 563
PN
303

Q.8
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fafafad 8 € a9 9 gduromg 99 e U s # fRd g2

& St vee A o Feart I Fe, H 39 9N 31 RU &1 Y 1eed % 9me TRdd & @t
IgHal § Tditen FT @ g

TF&I'I'\'“IT:
I 39 &7 & SO T8 70 e Y g
Il. Ui & U Agedyyl WP 8 ol Wi gdyd W ue yHiE Sl 8

o gduRo | R 11 g & eiafRd ©
X 2 $Had YAURUN || SfdFied gl
X 5. Pad YdyRuN | AdHigd 8l
X4 9 G gduRon | 3R A & gdyRon 1| siafifed §

Q‘-‘s TF ffEd His #, TEAM & WHDP & ©9 # forg o1 §1 3 S & COINS ST HY forar smam?

Ans  of 1. FRLQV
X 2 FRLBZ
~ 3 RvJaL
X 4 QJPTU

05-3 Viacom 18 Hifgar wi. faftes 3 o Rd) gd) 290 Red RAwer &1 | g )
Ans 1. SHdcsY 2015

X 2 75 2017
23 2d 2014
v 4 T35 2016
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S R T Y FRAT $ag  # GHT 2
Ans x.]a'[g

X 2 THg

X 3 IR

v fafa

% Apple 7 @ 7 iPad &I AecHIfSaT feamy & w9 # Uy )
Ans 1. 2009

X 2 2008

v 3 2010

X 4 2011

Q.8 Fzur, A, g, T SR T U ufdd W WS TN OSH SR W M Uy &1 SR o & fau fmfarad
8 Tl A BF W wafa 2

&1 u" § 8 S &9 H @sl 82
FY:
1. 9q W=y ot gl
2. %0l gFd &1 gal § da gl
3. 847 31 |l & g I g
4. 94 for § ot gl

XK1 BT 1 R 3 wiE gl
X2 FHad U 1, 2 3R 3 74 g
V3 HYT 1, 2, 3 3R 4 TOIQ gl
X4 IWIgd ¥ § Bz W Hy9 gai@ a1 gl
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Qés 85% daq @d B P 91, AP Ui A8 1,200 S &1 BT A I fhar 22

Ans 1.3 12,000
v 2 % 8,000
< 3 % 10,000
X 4 % 8,500

069 g+ B < & FUH AR % B+ F FO Y RGN I €, AT (25 +30) x 5)x 10 B AF I &2

Ans X1 1
X20
X3 0.1
v —0.1

Q.9 Name the process in which a metal is attacked by substances around it such as moisture, acids, etc.
1

Ans o 1. Corrosion
X 2 Oxidation
/< 3. Rancidity
& 4 Reduction
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% vy @ ugaH B¢

A B
B. WRIAAR

D. Il

Ans X1 D
X2 C
X3 A
v+ B

Qé" YR g & Gl (PIO) $T Ul GUd T &l o & T e
A o1 g HEdt 2018

X2 11 Jdls 2014
X3 2 2Wd, 2017
X 4 19 THIRI 2016

% =St (4,1, (1,1), (3,5) g Ffda Bryw @
XK. gafgeEg SR GHSI By

v 2 fauq 91 fBAyw

X 5. TSIV W JAGaE HYS 8!

X+ gAGATG WG GHSIUN el
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059 ofe U FAfEd W 7 MAT & BIS KYR B, ol 38 WIS & ‘HIS’ &1 $9 o sem?

Ans X1 FGT
X 2 FGR
X 3 FGH
v 4 FGQ

069 RIS WOl & GRM 99 & SEF-SRN WiE] SN Saifed gRil §, a4 T i @ gl
Ans “T W

X2 Sl

X 3

X 4 ool

Qf Which of the below is not a part of 5- Kingdom classification by Whittaker?

Ans < 1. Protista
/< 2. Fungi

v 3 Protozoa
# 4 Animalia
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L P 3T arE U A T wE $ d9 Uy & 5 @ § o=far g2
A)TTOR
B) Tt

Ans

% affeeey &1 sy Rigid Had T A S ol
Ans J‘Ia@

X adn

< 3 Heh

X« R

% faueR 2017 &, Tl 3oz qweR ¥ 58 gmifia e mr o
e o Tl

X 2 S TR g

X s S =Mfd IS
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